True

SibSp <=2.5
gini = 0.444
samples = 24

value = [8, 16]

'

Age <=6.5
gini = 0.326
samples = 453

value = [360, 93]

'

Pclass <= 1.5
gini = 0.295
samples = 429
value = [352, 77]

Sex <=
gini =

0.482
samples = 714
value = [424, 290]

0.5

False

Pclass <= 2.5

gini = 0.37
samples = 261
value = [64, 197]

'

Age <=2.5
gini = 0.107
samples = 159
value = [9, 150]

VAN

Fare <= 20.8
gini = 0.497
samples = 102
value = [55, 47]

'

= 0.0 Age <=2.5 Age <=53.0 Age <=13.0 Pclass <= 1.5 Fare <= 28.856 Age <=16.5 Age <=35.5
sa%n les ~ 15 gini = 0.198 gini = 0.473 gini = 0.208 gini = 0.5 gini = 0.097 gini = 0.494 gini = 0.227
Valuep= [0, 15] samples = 9 samples = 99 samples = 330 samples = 2 samples = 157 samples = 79 samples = 23
’ value = [8, 1] value = [61, 38] value = [291, 39] value = [1, 1] value = [8, 149] value = [35, 44] value = [20, 3]
= 0.0 Age <=3.5 Fare <= 25.938 Age <=75.5 SibSp <= 2.0 Fare <= 51.698 = 0.0 inil 0.0 Fare <= 28.231 Parch <= 1.5 Age <= 14.75 Age <= 36.5 Age <=3.5 Parch <=4.5
sagm les ~ 5 gini = 0.375 gini = 0.496 gini = 0.236 gini = 0.444 gini = 0.196 sagm les 1 sagm les 1 gini = 0.185 gini = 0.022 gini = 0.32 gini = 0.499 gini = 0.48 gini = 0.105
Valuep= (5. 0] samples = 4 samples = 77 samples = 22 samples = 12 samples = 318 Valuep= 1, 0] Valuep= [0, 1] samples = 68 samples = 89 samples = 20 samples = 59 samples = 5 samples = 18
’ value = [3, 1] value = [42, 35] value = [19, 3] value = [8, 4] value = [283, 35] ’ ’ value = [7, 61] value = [1, 88] value = [4, 16] value = [31, 28] value = [3, 2] value = [17, 1]
i =00 | [ gii=00 | [ gni=00 | | PP Mnico17 | | eni=00 Ceni—032 | | Eni- iz 0186 i 044t ehi—o16s | [ gmi=00 i =00 | |00y dni—osol | | =00 1 | TS | | g onds | [ eni- zini - ani=00 | | ET0%
samples = 1 samples = 3 samples = 5 = '_ samples = 1 - samples = 7 - o '_ samples = 1 samples = 74 '_ - samples = 5 = ‘ samples = 3 samples = 2 samples = 13 '_
value = [0, 1] value = [3, 0] value = [5, 0] samples = 72 samples = 21 value = [0, 1] samples = 5 value = [7, 0] samples = 309 samples = 9 samples = 67 value = [1, 0] value = [0, 74] samples = 15 samples = 15 value = [0, 5] samples = 52 samples = 7 value = [3, 0] value = [0, 2] value = [13, 0] samples =
’ ’ ’ value = [37, 35] value = [19, 2] ’ value = [1, 4] ’ value = [277, 32] value = [6, 3] value = [6, 61] ’ ’ value = [1, 14] value = [4, 11] ’ value = [25, 27] value = [6, 1] ’ ’ ’ value = [4, l]
Age <=43.5 Fare <= 387.665 = 0.0 Fare <= 42.502 Age <=10.0 \?ni ~ 0.0 Age <= 30.75 Fare <=7.91 Age <= 30.0 ~ 0.0 SibSp <= 0.5 Fare <= 18.525 = O’O/ Age <= 28.0 Fare <= 10.798 Fare <= 12.848 Age <=32.5 \1m 1} = 0.0 = / \?m
gini = 0.165 gini = 0.484 st =% gini = 0.346 gini = o.5 & - gini = 0.222 gini = 0.108 gini = 0.375 - gini = 0.142 gini= 0.5 st =% gini = 0.32 gini = 0.18 gini = 0.48 gini = 0.498 & - & - g - g - g -
-~ B samples = 12 . samples = 3 - o - samples = 5 ~ o samples = 10 - o - samples samples 6 samples = 1 samples l samples 4
samples = 11 samples = 61 value = [12, 0] samples = 9 samples = value = [0, 3] samples = 204 samples = 105 samples = 4 value = [5, 0] samples = 65 samples = 2 value = [0, 10] samples = 5 samples = 10 samples = 5 samples = 47 value = [0 5] value = [6, 0] value = [0, 1] value = [0, 1] value = [4, 0]
value = [1, 10] value = [36, 25] ’ value = [7, 2] value = [1, l ’ value = [178, 26] value = [99, 6] value = [1, 3] ’ value = [5, 60] value = [1, 1] ’ value = [1, 4] value = [1, 9] value = [3, 2] value = [25, 22] ’ ’ ’ ’ ’
. Age <=46.5 Fare <= 134.642 : x . Fare <= 78.244 . / \ Pclass <= 2.5 Fare <= 7.815 : l Fare <= 7.988 Age <=27.0 Fare <=13.25 Age <=25.0 ) l . . / X . ) l Age <=13.5 \ Fare <= 7.887 -
gini= 0.0 giii: 0.375 gini = 0.476 gini= 0.0 gini= 0.0 gini = 0.219 gini= 0.0 gini = gini = 0.192 gini = 0.444 gini= 0.0 gini = 0.151 & (0.5 =0.0 gini = 0.087 gi%li — 0.245 gini= 0.0 gini= 0.0 gini= 0.0 gini = gini= 0.0 gini = 0.0 gfn 0.444 gini = gini = 0.491 gini = 0.0
samples = 7 sam les. _ 2 samples _ 59 samples = 2 samples = 1 sam les. _g samples = 1 samples = l samples _ 136 samples _ 18 samples = 32 samples _ 73 samples = 5 samples = 2 samples — 44 samples "~ 1 samples = 1 samples = 1 samples = 1 samples = 4 samples = 1 samples = 9 samples = 3 samples = 2 samples _ 44 samples = 3
value = [0, 7] p_ p_ value = [0, 2] value = [0, 1] P _ value = [0, 1] value = [1, 0] p_ P _ value = [32, 0] p_ P _ value = [0, 2] P _ p_ value = [1, 0] value = [0, 1] value = [1, 0] value = [0, 4] value = [1, 0] value = [0, 9] P _ value = [2, 0] p_ value = [0, 3]
value = [1, 3] value = [36, 23] value = [7, 1] value = [166, 20] value = [12, 6] value = [67, 6] value = [1, 1] value = [2, 42] value = [3, 18] value = [1, 2] value = [25, 19]
. ; l Age <=27.5 \ ; . Parch <= 1.5 Fare <=11.0 Age <=26.5 . / Fare <= 7.875 SibSp <= 1.0 Age <=61.0 l Fare <= 12.825 : l : l Age <=27.5 . SibSp <= 0.5 Age <= 28.25 SibSp <= 0.5
gini = 0.5 gini = 0.0 oini — 0.489 gini = 0.0 gini = 0.0 gini = 0.444 gini = 0.05 cini— 0.225 gini = 0.0 gini = 0.48 oini— 0.5 cini— 0,109 =00 =00 gini = 0.153 gini = 0.0 gini = 0.0 Gini— 0.3 gini = 0.0 oini— 0.5 Gini— 0,469 sini = 0,436
samples = 2 samples = 2 samples =54 samples = 5 samples = 3 samples- =3 samples =39 samples = 147 samples = 3 samples =15 samples — 4 samples =69 samples = 1 samples = 1 samples =24 samples = 20 samples = 6 samples =15 samples = 1 samples ) samples =16 samples =28
value = [1, 1] | | value =10, 2] | | \ope=31,231 | [Yalue=15.0] value =[5, 01 | | Ve = 2, 1] value = [38, 1] value = [128, 19] value =3, 01 | | Vane = [9, 6] value = [2, 2] value = [65, 4] | [ Yalue=10. 11 | | value=Tl, 0] valie = [2,22] | [ Value=1[0,20] | | value=[0, 6] value = [3, 12] value = [0, 11 | | Vane = [1, 1] value = [6, 10] value = [19, 9]
Age <=24.5 Fare <= 115.442 o . l Age <=21.0 : l Fare <= 2.006 Age <=27.5 - j Fare <= 26.125 Age <=41.5 \ . Fare <= 13.25 Age <= 64.0 - l Age <= 26.0 Fare <= 17.429 Age <=43.0 e : l Age <= 18.5 : l Age <=25.0 Fare <= 19.263
gini = 0.426 gini = 0.45 gini = 0.0 gini = 0.0 gini = 0.198 gmni = 0.0 gini = 0.188 gini = 0.334 gini = 0.0 gini = 0.459 gini = 0.444 gini = 0.0 gini = 0.087 gini = 0.444 gini = 0.0 gini = 0.245 gini = 0.444 gini = 0.153 gini = 0.0 gini = 0.0 gini = 0.408 gini = 0.0 gini = 0.492 gini = 0.278
samples = 13 samples = 41 VS;lIlllepES[O_ 11 | Vs;r&lepies[z— g] samples = 9 Vsjl?epies[go 38] samples = 114 samples = 33 \]siﬁlepfs[o— 11] samples = 14 samples = 3 \]siﬁlepfs[l— 5] samples = 66 samples = 3 \;S;]glepfs[()_ 11 8] samples = 14 samples = 3 samples = 12 Vszilumepfs[l_ 5] VS;lIlllepES[O_ 11 | samples = 14 Vsjlumepies[z_ g] samples = l6 samples = 12
value = [4, 9] value = [27, 14] ’ ’ value = [8, 1] ’ value = [102, 12] value = [26, 7] ’ value = [9, 5] value = [1, 2] ’ value = [63, 3] value = [2, 1] ’ value = [2, 12] value = [2, 1] value = [1, 11] ’ ’ value = [4, 10] ’ value = value = [10, 2]
Parch <= 0.5 inil 0.0 Fare <= 30.25 inil 0.0 Age<=17.5 ™ l 0.0 Age <=22.0 Fare <=7.133 Fare <= 7.846 Age <= 28.75 Fare <= 20.925 \ini — 0.0 inil 05 = 0.0 Fare <= 12.938 = 0.0 inil 0.0 = 0.0 Parch <= 1.0 Age <=137.0 =0, g/ }1 inil 0.0 Parch <= 0.5 Fare <=7.123 Age <=24.0 Age <=19.0 Fare <= 7.91 Age <=24.5 = 0.0
gini = 0.49 . agm s — 6 gini = 0.426 . agm los — 2 gini = 0.444 . agm s — 6 gini= 0.5 gini= 0.177 gini = 0.48 gini = 0.245 gini = 0.486 . agm los — 2 . agm los — 2 . agm s — 1 gini = 0.157 safn s = 31 . agm s — 1 . agm s — 2 gini = 0.444 gini = 0.165 . agm s — 1 . agm s 2 . agm s — gini = 0.444 gini = 0.444 gini = 0.298 gini = 0.346 gini = 0.408 gini = 0.165 . agm s — 1
samples = 7 Valuep= [0, 6] samples = 39 Valuep= [0, 2] samples = 3 Valuep= [6. 0] samples = 2 samples = 112 samples = 5 samples = 28 samples = 12 Valuep= 2. 0] Valuep= [0, 1] valuep= [0, 1] samples = 35 Valuep= 131, 0] Valuep= [0, 1] valuep= 2. 0] samples = 3 samples = 11 Valuep= [0, 1] valuep= 2. 0] valuep: [0, 9] samples = 3 samples = 3 samples = 11 samples = 9 samples = 7 samples = 11 valuep= [0, 1]
value = [4, 3] ’ value = [27, 12] ’ value = [2, 1] ’ value = [1, 1] value = [101, 11] value = [2, 3] value = [24, 4] value = [7, 5] ’ ’ ’ value = [32, 3] ’ ’ ’ value = [1, 2] value = [1, 10] ’ ’ ’ value = [1, 2] value = [2, 1] value = [2, 9] value = [7, 2] value = [2, 5] value = [10, 1] ’
- Age <=19.0 L Fare <= 32.51 o : l — ; l o / Fare <= 7.227 L / SibSp <= 0.5 . l Fare <= 9.492 Age <=31.5 - Age <=44.5 Age <=45.0 - : l . l Age <=39.0 o / . l o Fare <= 7.635 Age <=21.5 Fare <= 7.815 Fare <= 12.148 : l : l Fare <= 8.673 Age <=22.5 -
gini = 0.0 gini = 0.375 gini = 0.0 gini = 0.457 gini = 0.0 gini = 0.5 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.192 gini = 0.0 gini = 0.444 gini = 0.0 gini = 0.36 gini = 0.463 gini = 0.0 gini = 0.08 gini = 0.298 gini = 0.5 gini = 0.0 gini = 0.0 gini = 0.444 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.5 gini = 0.198 gini = 0.5 gini = 0.5 gini = 0.0 gini = 0.0 gini = 0.278 gini = 0.32 gini = 0.0
samples = 3 _ samples = 5 _ samples = 1 samples = 2 samples = 1 samples = 1 samples = 10 - samples = 2 _ samples = 11 = _ samples = 1 - - samples = 2 samples = 1 samples = 8 - samples = 1 samples = 2 samples = 1 = _ - - samples = 5 samples = 1 _ - samples = 6
valie = [3,0] | | SamPles =4 1 | ohe =[5, 0] samples = 34 valie = [1,0] | | vale=[1,1]| | vaue=[1,0] | | vale=[0,1]| | vale=r[10, 07| | Samples=102 1 1 =0, 2] samples =3 || e =11, 0] | | Samples =17 samples =11\ 1 e = [0, 1] samples = 24 samples =11 valie=[1,1] | | vale=1[0,1] | | vale=[o, 8] | | Samples=3 value = [1,0] | | value = [0, 2] value = [1, 0] samples =2 samples =9 samples = 2 samples = 4 valie = [5,0] | | value = [1, 0] samples = 6 samples =5 | | e = [6, 0]
’ value = [1, 3] ’ value = [22, 12] ’ ’ ’ ’ ’ value = [91, 11] ’ value = [2, 1] ’ value = [13, 4] value = [7, 4] ’ value = [23, 1] value = [9, 2] ’ ’ ’ value = [1, 2] ’ ’ ’ value = [1, 1] value = [1, §] value = [1, 1] value = [2, 2] ’ ’ value = [1, 5] value = [4, 1] ’
. Fare <= 70.323 . SibSp <= 0.5 Age <=24.5 Age <= 20.25 Fare <= 8.279 \ Age <=29.5 SibSp <= 0.5 Pclass <= 2.5 Fare <= 8.206 . / Age <= 46.0 Age <= 40.5 . . / \ . ; l Age <=20.0 : l : l . : l . Age <= 28.5 : l : l .
gini= 0.0 gini = 0.5 gini= 0.0 ginili 0412 giii: 0.444 ggini: 0.165 gini = 0 5 gini= 0.0 gi%li= 0.245 ginili 0.444 gini = 0.444 gini = 0.375 gini= 0.0 giii: 0.245 gi%qi= 0.375 gini= 0.0 gini = gini = gini= 0.0 gini= 0.0 gi‘;’;i: 0 375 gini = 0.0 gini= 0.0 gini= 0.0 gini= 0.0 gini= 0.0 gi%li= 0.444 gini= 0.0 gini= 0.0 gini= 0.0
samples = 2 - samples = 3 '_ o '_ ' samples = 1 - o T T samples = 17 ' '_ samples = 3 samples = l samples = 2 samples = 1 samples = 1 ' samples = 5 samples = 1 samples = 1 samples = 2 samples = 2 o samples = 3 samples = 4 samples = 1
value = [0, 2] samples = 2 value = [0, 3] samples =31 samples = 3 samples = 99 samples = value = [1, 0] samples = 14 samples = 3 samples = 3 samples = 8 value = [17, 0] samples = 7 samples =8 | | e = [3, 0] value=[1,0] | | value = [0, 2] value =0, 1] | | value = [1, 0] samples = valie=[0,5] | | vale=[1,0] | | vale=[0,1]| | vale=10,2] | | value=[2,0] samples =3 | | e =10,3] | | valie=[4.0] | | vale= [0, 1]
’ value = [1, 1] ’ value = [22, 9] value = [1, 2] value = [90, 9] value = [1, l value = [12, 2] value = [1, 2] value = [1, 2] value = [6, 2] ’ value = [6, 1] value = [6, 2] ’ ’ ’ ’ ’ value = [1, 3] ’ ’ ’ ’ ’ value = [1, 2] ’ ’ ’
. . l Age <=29.5 Age <=49.5 - : l Fare <= 8.104 Fare <= 18.294 . / \ Fare <= 7.973 : l : l - Fare <= 11.75 - Fare <= 7.988 o . / \ Age <= 35.0 o . / Fare <= 7.7 . / \
gini = 0.0 gini = 0.0 gini = 0.18 gini = 0.472 gini = 0.0 gini = 0.0 gini = 0.236 gini = 0.103 gini = gini = gini = 0.408 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.5 gini = 0.0 gini = 0.48 gini = 0.0 gini = gini = gini = 0.278 gini = 0.5 gini = 0.( gini = 0.5 gini = gini =
samples = 1 samples = 1 - _ samples = 2 samples = 1 - _ samples = l samples = l samples = 7 samples = 2 samples = 1 samples = 1 _ samples = 3 samples = l samples = 6 samples = 2 samples 2 samples = 2 samples = l
value = [0, 1] value = [1, 0] samples = 10 samples = 21 value = [0, 2] value = [1, 0] samples = 44 samples = 35 value = [1, 0] value = [0, 1] samples =7 value = [7, 0] value = [0, 2] value = [1, 0] samples = 2 value = [0, 1] samples = 3 value = [3, 0] value = [0, 1] value = [6, 0] samples = 6 value = [1, 1] value = [0, 2] samples = 2 value = [0, 2] value = [1, 0]
’ ’ value = [9, 1] value = [13, 8] ’ ’ value = [38, 6] value = [52, 3] ’ ’ value = [5, 2] ’ ’ ’ value = [1, 1] value = [3, 2] ’ ’ ’ value = [5, 1] ’ value = [1, 1] ’ ’
Fare <= 41.3 inil 0.0 Age <=47.0 = 0.0 Fare <= 7.91 Age <=19.5 Fare <= 7.798 Fare <= 19.681 Fare <= 7.885 = 0.0 i / \?m Fare <= 7.91 \ini ~ 0.0 i 044 \1111 i — / \:11
gini = 0.5 gt = U gini = 0.494 st~ U gini = 0.34 gini = 0.091 gini = 0.074 gini = 0.444 gini = 0.48 gt = U2 gt = 22 st~ U2 gini = 0.375 gt = U2 £ " gt = U gt = ©- gt = 22
= samples = 8 _ samples = 3 - - - - _ samples = 2 samples l samples l _ samples = 1 samples = 3 samples 3 samples l samples l
samples =2 || ohie = [8, 0] samples =18 | | 011 = 13, 0] samples = 23 samples = 21 samples = 52 samples = 3 samples = value = [2, 0] valie = [1,0] | | value = [0, 1] samples =4 | | e = [0, 1] valie = [2, 1] | | value = [3, 0] valie = [0, 1] | | value = [1, 0]
value = [1, 1] ’ value = [10, 8] ’ value = [18, 5] value = [20, 1] value = [50, 2] value = [2, 1] value = [3, 2] ’ ’ ’ value = [3, 1] ’ ’ ’ ’ ’
. ; l Parch <= 0.5 Fare <= 99.994 Fare <= 7.44 SibSp <= 0.5 . SibSp <= 0.5 Fare <= 7.758 \ — X l . Fare <= 7.762 . " / \
gini = 0.0 gini = 0.0 gini = 0.426 gini = 0.32 gini = 0.124 gini = 0.5 gini = 0.0 gini = 0.32 gini = 0.18 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.375 gini = 0.0 gini = gini = 0.444
samples = 1 samples = 1 _ - _ - samples = 16 - - samples = 32 samples = 1 samples = 2 a samples = 1 samples = l samples = 3
value =[0, 1] | | vale=[1, 07 | | Samples =13 samples = 5 samples = 15 samples = 8 value = [16, 0] samples =5 samples =20 | | pe=132.0] | | vale=1[0,1] | | value=[2, 0] samples = 4 value = [0, 1] value=[1,0] | | value=[2, 1]
’ ’ value = [9, 4] value = [1, 4] value = [14, 1] value = [4, 4] ’ value = [4, 1] value = [18, 2] ’ ’ ’ value = [3, 1] ’ ’ ’
e gini = 0.0 gini = 0.0 gini = 0.0 e gini = 0.0 Age <= 10 gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.0 Age == 2l Fare == 1398 gini = 0.0
g ~ samples = 1 samples = 4 samples = 1 & ' samples = 12 g T samples = 1 samples = 4 samples = 1 samples = 13 & o & ' samples = 2
samples =121 | 0 he=10,1] | | value=[0,4] | | vale=[1,0] | | S2mPls=3 | | (ije=[12, 0] samples =7 || o ohe=10,1] | | valie=[4,0] | | vale=[0,1] | | value=[13, 0] samples = 7 samples =2 value = [2, 0]
value = [9, 3] ’ ’ ’ value = [2, 1] ’ value = [4, 3] ’ ’ ’ ’ value = [5, 2] value = [1, 1] ’
Fare <= 86.085 \ ) . / \ Age <=17.0 \ - Fare <= 7.785 SibSp <= 0.5 . / x
A gini = 0.0 gini = 0.0 gini = 2L gini = 0.0 L e gini = 0.0 gini =
Sg;nnll leOs.4=4§ samples = 3 samples = 1 samples = 2 silrrllll 162'285 samples = 2 < agmlm les0.=5 ’ S‘iﬂr:: legizS samples = 1 samples = l
pie value = [3, 0] value = [0, 1] value = [2, 0] P value = [2, 0] e P value = [1, 0] value = [0, 1]
value = [6, 3] value = [2, 3] value = [1, 1] value = [4, 1]
Pare = 018 gini = 0.0 gini = 0.5 Age < o gini = 0.0 gini = 0.0 gini = 0.0 gini = 0.5
sgam les. _q samples = 1 samples = 2 sgam les‘ _3 samples = 1 samples = 1 samples = 3 samples = 2
pie value = [0, 1] value = [1, 1] P value = [1, 0] value = [0, 1] value = [3, 0] value = [1, 1]
value = [6, 2] value = [1, 2]
Fare <= 52.277 \‘ini —00 ini = / \1n1
gini = 0.48 gini - - ° :
_ samples = 3 samples = l samples = 2
samples = 3 lue = [3, 0 lue = [0, 1 lue = [1, 1
value = [3, 2] value = [3, 0] value = [0, 1] value = [1, 1]
. / Age <=34.0
gini = 0.0 gini = 0.444
samples = 2 samples = 3
value = [2, 0] -
value = [1, 2]
gini = 0.0 Fargei;i=2502.5827
samples = 1 samples _
value = [0, 1] p_
value = [1, 1]
gini = gini =
samples = l samples = l
value = [0, 1] value = [1, 0]




